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1. (15 points) The following are worth 3 points each and are short answer.

(a) The series 3 >° | a, has the property that the n-th partial sum for
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(d) The series .2 a, has the property that its n-th partial sum
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2. (10 points) Show that the following series diverges except for one value
of . Then compute the sum of the series for that value of c.
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3. (10 points, 5 points each) Find the sum of the following series, if they

exist, otherwise explain:
:2_9_ i(-).. - 2 H l o-"")
(@) 5+2+8+8 +. ... = 5 (1+ T e +

” i

= . T
= 5' Z_ (gr = 5. "2/5'
il -2 5
S ES3
n o T e
ot \ i il , e
(b Eloraer .= 2 (-%) e "l*\’)"%@( 9’)

e
1 h.e g€
Sinee  lel=I5)2 1, ™7

gef,“ﬂf d!\l(f)(’-s .




4. (10 points, 5 points each)

(a) Does the sequence {385%2} converge? If so, find the limit, if not,
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9. (10 points) Determine whether the series is absolutely convergent,
conditionally convergent or divergent. Be sure to indicate your
reasoning to receive full credit.
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6. (10 points) Determine whether the series is absolutely convergent,
conditionally convergent or divergent. Be sure to indicate your
reasoning to receive full credit.
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7. (10 points) Determine whether the series is absolutely convergent,
conditionally convergent or divergent. Be sure to indicate your

reasoning to receive full eredit,
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8. (15 points) Determine whether one of the following series is absolutely
convergent, conditionally convergent or divergent. Be sure to
indicate your reasoning to receive full credit and which attempt you
want graded if you do work on both problems.
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